2022F T = RO—,FTH9KR

85 | &% P w7 |FEAE%]| 6
@) | EEIC 5-30 3-30 :
BIETC 330 | 10:30 1
2(A) | RTC 900 | 11:00 )
3(K) | ERTC 5-30 3-30 :
ERTC 5-30 3-30 1
40K e 900 | 1200 3
ERTC 5-30 3-30 :
SN RTC 900 | 11:00 7
ERTC 5-30 3-30 1
T3 Mg 900 | 12:00 3
s |EEIC 5-30 3-30 1
EIETO 330 | 10:30 1
9(A) | RTC 900 | 11:00 )
12(K) | RTC 900 | 11.00 ?
ERTC 5-30 3-30 1
M) s 900 | 12:00 3
ERTC 5-30 3-30 :
15(8) | ERTC 930 | 12:30 1 —TED
£ETC 9:30 15:30 2 =& A
16(H) | RTC 900 | 11:00 7
19(K) | RTC 900 | 11.00 5
21(1) | ERTC 5:30 3-30 1
ERTC 5-30 3-30 :
22(B) = mTC 330 | 10:30 1
23(H) | RTC 900 | 11:00 7
26(K) | RTC 900 | 11.00 7
ERTC 5-30 3-30 :
28(L) it 7300 | 1600 3
ERTC 5-30 3-30 1
20(8) =2 ieTe 330 | 10:30 1
30(8) | RTC 900 | 11:00 7




2022F T = RO—,FTH9KR

= il FR%a R_Y | FAEHK| #=

2(K) | RTC 9:00 11:00 2

RETC 6:30 8:30 1
) e e 8:30 12:30 3
5(8) RETC 6:30 8:30 1

SERRTC 8:30 10:30 1
6(BA) | RTC 9:00 11:00 2
9(K) | RTC 9:00 11:00 2

RETC 6:30 8:30 1
L) el 9:00 12:00 3

RETC 6:30 8:30 1
12(8) SEHETC 8:30 10:30 1
13(B) | RTC 9:00 11:00 2
16(K) | RTC 9:00 11:00 2

RETC 6:30 8:30 1
18 (L) el 9:00 12:00 3

RETC 6:30 8:30 1
198 FEiETC 8:30 10:30 1
20(H) | RTC 9:00 11:00 2
23(K) | RTC 9:00 11:00 2
25(x) | RETC 6:30 8:30 1

RETC 6:30 8:30 1
26(8) SERRTC 8:30 10:30 1
21(H) | RTC 9:00 11:00 2
30(K) | RTC 9:00 11:00 2




2022F T = RO—,FTH9KR

= il FR%a R_Y | FAEHK| #=

2(X%) RIETC 6:30 8:30 1
3(8) RETC 6:30 8:30 1

FEIETC 8:30 10:30 1
4(B) | RTC 9:00 11:00 2
1(R) | RTC 9:00 11:00 2
9(X) RIETC 6:30 8:30 1

RETC 6:30 8:30 1
1008 SERRTC 8:30 10:30 1
11(B) | RTC 9:00 11:00 2
14(K) | RTC 9:00 11:00 2
16(£) | &ETC 6:30 8:30 1

RETC 6:30 8:30 1
17(8) FEHETC 8:30 10:30 1

RETC 6:30 8:30 1
18(R) RTC 9:00 11:00 2
21(K) | RTC 9:00 11:00 2
23(x) | RETC 6:30 8:30 1

RETC 6:30 8:30 1
24(8) SERRTC 8:30 10:30 1
25(H) | RTC 9:00 11:00 2
28(K) | RTC 9:00 11:00 2
0(x) | &ETC 6:30 8:30 1

RETC 6:30 8:30 1
STE) FEHETC 8:30 10:30 1




2022F T = RO—,FTH9KR

= il FR%a R_Y | FAEHK| #=

1(B) | RTC 9:00 11:00 2
4(K) | RTC 9:00 11:00 2
6(L) RETC 6:30 8:30 1
7(8) RETC 6:30 8:30 1

SERRTC 8:30 10:30 1
8(H) | RTC 9:00 11:00 2

RETC 6:30 8:30 1
1) RTC 9:00 11:00 2
13(£) | &ETC 6:30 8:30 1

RETC 6:30 8:30 1
148 SEHETC 8:30 10:30 1
15(8) | RTC 9:00 11:00 2
18(K) | RTC 9:00 11:00 2
20(x) | RETC 6:30 8:30 1

RETC 6:30 8:30 1
21(8) SERRTC 8:30 10:30 1
22(H) | RTC 9:00 11:00 2
25(K) | RTC 9:00 11:00 2
21(x) | RETC 6:30 8:30 1

RETC 6:30 8:30 1
28(85) R TC 8:30 10:30 1
29(H) | RTC 9:00 11:00 2




2022F T = RO—,FTH9KR

= il FR%a R_Y | FAEHK| #=

1(K) | RTC 9:00 11:00 2
3(X) RETC 6:30 8:30 1
4(8) RETC 6:30 8:30 1

R TC 8:30 10:30 1
5(H) | RTC 9:00 11:00 2
8(KR) | RTC 9:00 11:00 2
10(£) | &ETC 6:30 8:30 1
11(8) RETC 6:30 8:30 1

JEIETC 8:30 10:30 1
12(B) | RTC 9:00 11:00 2
15(K) | RTC 9:00 11:00 2
17(£) | &ETC 6:30 8:30 1

RETC 6:30 8:30 1
18(8) FEiETC 8:30 10:30 1

RETC 6:30 8:30 1
19(A) RTC 9:00 11:00 2
22(K) | RTC 9:00 11:00 2
23(%) | RETC 6:30 8:30 1
24(x) | RETC 6:30 8:30 1

RETC 6:30 8:30 1
2(8) RETC 9:30 13:30 3
26(H) | RTC 9:00 11:00 2
29(K) | RTC 9:00 11:00 2




2022F T = RO—,FTH9KR

H H H{&£ B ia R’RY FAmE| =
1(X) | RETC 6:30 8:30 1
2(8) ERTC 6:30 8:30 1

RIETC 8:30 10:30 1

3(B) | RTC 9:00 11:00 2
6(K) | RTC 9:00 11:00 2
8(x) | &E&TC 6:30 8:30 1
9(m) ERTC 6:30 8:30 1
FEIETC 8:30 10:30 1

ERTC 6:30 8:30 1

10(A) RTC 9:00 11:00 2
13(K) | RTC 9:00 11:00 2
15(1) | &&TC 6:30 8:30 1
10 16() RRTC 6:30 8:30 1
FRIETC 8:30 10:30 1

17(8) | RTC 9:00 11:00 2
20(K) | RTC 9:00 11:00 2
22(x) | RRTC 6:30 8:30 1
ERTC 6:30 8:30 1

23(R) FEIETC 8:30 10:30 1
24(B) | RTC 9:00 11:00 2
27(K) | RTC 9:00 11:00 2
29(x) | ®RRTC 6:30 8:30 1
ERTC 6:30 8:30 1

30(R) EIETC 8:30 10:30 1
31(A) | RTC 9:00 11:00 2




2022F T = RO—,FTH9KR

R H il FR%a R_Y | FAEHK| #=

RETC 6:30 8:30 1

3¢ RTC 9:00 11:00 2
5(X%) RETC 6:30 8:30 1
6(H) RETC 6:30 8:30 1
SERRTC 8:30 10:30 1

1(B) | RTC 9:00 11:00 2
10(K) | RTC 9:00 11:00 2
12(£) | RETC 6:30 8:30 1
RETC 6:30 8:30 1

13(R) FEHETC 8:30 10:30 1
11 14(A) | RTC 9:00 11:00 2
17(R) | RTC 9:00 11:00 2
19(X£) | &ETC 6:30 8:30 1
RETC 6:30 8:30 1

2008 JEIETC 8:30 10:30 1
21(A) | RTC 9:00 11:00 2
23(K) | RETC 6:30 8:30 1
24(K) | RTC 9:00 11:00 2
26(x) | RETC 6:30 8:30 1
RETC 6:30 8:30 1

21(8) R TC 8:30 10:30 1
28(H) | RTC 9:00 11:00 2




2022F T = RO—,FTH9KR

B = il AR T | FAEHK| =
1(K) | RTC 9:00 11:00 2
3(x) | RETC 6:30 8:30 1
4(8) ERTC 6:30 8:30 1

EIETC 8:30 10:30 1
5(B) | RTC 9:00 11:00 2
8(K) | RTC 9:00 11:00 2
10(+) | &&TC 6:30 8:30 1
1) ERETC 6:30 8:30 1

FEIETC 8:30 10:30 1
12(8) | RTC 9:00 11:00 2

12| 15(K) | RTC 9:00 11:00 2

17(1) | &&TC 6:30 8:30 1

ERTC 6:30 8:30 1
18(R) FRIETC 8:30 10:30 1
19(8) | RTC 9:00 11:00 2
22(K) | RTC 9:00 11:00 2
24(x) | RRTC 6:30 8:30 1

ERTC 6:30 8:30 1
25(R) FEIETC 8:30 10:30 1
26(A) | RTC 9:00 11:00 2
29(K) | RTC 9:00 11:00 2




